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@vsl # #— 5. This question booklet is divided into

two sectio —
ons Section-A and

Section-B.

In Section-A, there are
70 ObjBCtiW type questions, out
of which any 35 questions are
to be answered. If more than
35_ questions are answered, then
only first 35 will be evaluated. Each
question. carries 1 mark. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
treated invalid.

. In Section - B, there are 20 short

answer type questions. Each
carrying 2 marks, out of which
any 10 questions are to be

answered. Apart from these, there
are 6 long answer type

questions, each carrying
5 marks. Out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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@ug - A / SECTION - A

TS W9 / Objective Type Questions

m#wz#maa;%mm#;mwﬁmﬁvwé faad & o=
@t &1 A gRT R U @A fawew & OMR vz wv fafevw ¢ fEEt
35991 &1 I T 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR Sheet. Answer any

35 questions. 35x1=35
1. frafafes § @9 em SR & affrnadi g e |

(A) CH,COOCH, +H,0 —H"— CH,COOH + CH,OH
(B) CH,COOC,H +NaOH — CH;COONa +C,H;OH
(C) 2H,0, — 2H,0+0,

(D) 2N,0, »4NO, + O,

Which of the foliowiné is not a first order reaction ?

(A) CH,COOCH, +H,0 —!— CH,COOH + CH,OH
(8) CH,COOC,H, +NaOH — CH,COONa + C,H;OH
(C) 2H,0, —» 2H,0+0,

(D) QNQOSr-:r'fll\IO:2 + 0,
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[ 11

et fodra IR € sfifiran % I Rris 6 3o 2
A) dae' g B) w7

(€) w= eF! (D) AwE!

The unit of rate constant of a second order reaction is

-1 -1

(A) mol L !sec (B) mol 'L !sec
(C) mol 'L sec™! (D) molL sec™’

et wfREn w1 3 whem dx —k[H]”?[B]”2 2, a? Il
e

' 1
@ 2 B 5

© 3 | D) 1

If the rate equation for a reaction is flx =k[|H ]” 2[ B]U 2 the order

of reaction is

@) 2 B
€) % (D) 1

Ssfrr % rfugiow gaT % IEER

B  E=kp'/ B) t=k.p'"
(C) xm=kp'/" o (D) == pﬁ‘n

24 /A /X11-5005-(37/40) Page 4 / 32




| [ 118 ]
According to Freundlich adsorption isotherm

@) =kp!l” B) T=k.p'/"
€ xm=kp'" D -;—;pf‘f,n
SR
@ TwEddfrsm g a1 ¥ ghdfa I@
(C)  da ® uRefe ww (D) =&r ¥ WA @ ‘

Milk is
(A)  fat dispersed in water {B} water dispersed in fat

(C)  water dispersed in oil (D) fat dispersed in fat

frefefan & # amifeRe S 2 2

(a) ¥ B) ™.

(C) IEw D
Which of the following is a lyophilic colloid ?
(A) Milk J (B) Gum
(C) Fog | (D) Blood

¥ faf g omifE % sene § Prefifea § R e = awm
BT g ?

0

(B) Fe + Mo
3

(A) Al

(C) CuO , (D) Pt

24 [ A/ XII-5005-37/40) | Page 5 / 32




11
Which of the following catalysts is used in the manufacture

ammonia by Haber's process ?

(A)  AlL,O, (B) Fe + Mo
) cuo (D} Pt
8. W v e & Red wrw wehterser st 7 aam @ o
(A)  PCI, (B) PCl,
(€) socl, | O ¢,
‘With which of the following does acetic acid not form acety
chloride ?
(A) PCl (B) PCl,
© soci, D) I,
9.  udrmRE g 2
(A)  Inefig | (B) @i
€y I (D} IETHA
Acelamide is
(A) Acidic (B) Alkaline
(C) Amphoteric (D) Neutral
H;
10. CH,';-;—NHE tw=
CH,
w  wt A (B) A%vxtt hm
(C) e o () wERAD o
24 /A X11-5005-137/40) Page 6 _f_ﬁ




11.

12.

13.

e, - [118 ]
CH3-'?'"NH2 isa

CHj,
(A) Primary amine (B) Secondary amine

(C) Tertiary amine (D) Quaternary salt

A T H TS 3 e KoH ¥ Ty ™ FO W T 2
(A) CH,OH | (B) CH,CN
() * CH;CHO D} CH,NC

Methylamine on heating with chloroform and alcoholic KOH gives

(A) CH,OH (B) qﬁ ,CN
(C) CH,CHO - (D) CcH ,NC
Freaforfien 3 wwdt waifts anda &

(A) C(H.NH, ~ (B) (CgHg),NH
(C) C,H.NH, (D) (C,HZ),NH

Which of the following is the most basic ?

(A) (3,,5.1&51»'1'1%2 ~ (B) (C¢Hs),NH

(C) C,H.NH, (D)  (C,H),NH

'Mﬁ%ﬁamﬁmﬁmﬁaﬁaﬂﬁﬁm%mwa?ﬁ%?

(A) IR Y (B) WEHANH T

(C) TS aTeE 1 9 (D) TG T4

24 [ A/ XI1-5005-37/40) Page 7 / 32




14.

15.

16.

[118]
The helical structure of protein is stabilized by which of the
following ?
(A) Ionic bond (B) Covalent bond

(C) van der Waals forces (D) - Hydrogen bond

Praferfas & # HroRee & 2

w TEE B wE

© TEE o) =

Whi;:h of the following is a ketohexose ?

(A) Glucose _ {B) Fructosg

(C) Sucrose (D) Starch

& fPraffea 3 fFa yER @I R 2

@) Imaf @ (B) TEEdNS @l

(C) anfoas T (D) oTgs

Which of the following types of crystal is diamond ?
(A) Ionic crystal (B} Covalent crystal
(C) Molecular crystal (D) Metallic crystal *

NaCl @@ 6t g1 8
(A) S s A ® S
(C) i - D) fis Hfza wwR
_—

| 24/A/XI1-5005-(37/40) | Page8/”




17.

18.

19.

[118 ]
The structure of NaCl crystal is

(A)  Hexagonal close packing
(B) Face centred éubic

(C) Square planar

(D)  Body centred cubic

fraffd 4 a9 wdR I 2 »
() @ B e
(C) HTYRYT 99 . (D) =

Which of the following is an amorphous solid ?

(A) Diamond | (B) Graphite
(C) Common salt (D) Glass
FEwThr fifer fpam el & ot St & 2

(A) 6 | B) 4

(C) 8 (D) 12

An octahedral void is surrounded by how many spheres ?

(A) 6 . B) 4

(C) 8 . (D) 12

Rt R % GO @) oI W H HH-T1 i s @R T

T B ?
(A)  HIeRdl (B) Aw
(C) Bl (D) T

Page 9 / 32
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20.

21.

22,

[ 11g
Which of the following modes of expressing concentration o

solution does not depend upon temperature ?

(A)  Molarity (B) Normality

(C)  Formality (D)  Molality

Fetferfea & ®17 waee from & e e gutar 2 >

A) C.H, 'HEITCEHSCH3 (B) C,H, a1 CCl,

(€)  CHCl, TN C,H_OH (D) CHCl, @1 CH,COCH,
Which of the following show positive deviation from Raoult's Jay -
(A)  C¢H, and CoH,CH, (B) C_,H, andCCl,

(C) CHCI, and C oHs;OH (D) CHCI, and CH,COCH 3

%Gﬁﬁm?%wmmaﬁﬁm%ﬁqaﬁﬁﬁmmﬁw%mm
frar ST @ 2

(A) CR

I e—— _.,n:

= (B) E=RT

_CT _RT
€ m=%=3 (D) =73

The osmotic pressure of a solution is represented by which of the
following equations ?

(A) n=£T13 B E=RrT
© n=CT @) n=EL
Frafofiga & w9 e s # R ? 7
(A) H,PO, (B) H,PO,
(C) HPO, D) H,P,0,

24/&!XH~5005—[37{4{}} Page 10 / 32




23.

24.

25.

[118 ]
Which of the following 1s the molecular formula of Orthophosphoric

acid ?

(A) H,PO, (B) H,PO,

© HPO, (D) H,P,O.
XeF , # T Bt

(A)  TIHTHI | (B) ATHARN

(C) Tiad (D) T & Hg
The structure of XeF , is

(A)  Tetrahedral ' (B) Octahedral
(C) Square planar (D)  None of these

mﬁm%ﬁmwmmsﬁhﬁw%?
(A) I ' - (B) Br
© cl (D) F

Which of the following halogens does not exhibit a poéit'ive
oxidation state ?

a) 1 " (B) Br
(C). Cl (D) F
fraffiga o fres o9 SV FER BT 2 ?

(A) H,O (B) H,S

(C) H,Se (D)  H,Te

~ [24/A/XI11-5005-7/40) Page 11 / 32




- 26.

27.

28.

!
Wh‘ich of the fbllnwing has the smallest bond angle ?
@A) - H,0 (B) H,S
(€) H,se (D) H,Te

Frafefea ¥ Rewd s sl ) e s & 2

(A) Mg* (B) Ti**

(C) v3+ (D) Fe3*
Which of the following has maximum number of unpaire
electrons ?

(a) Mg B) Ti%*

(C) v3* (D) Fedt
‘#ﬁﬁﬁ#ﬁmﬁﬁﬁﬂaﬁﬂmHW3ﬁ@ﬂ%

Ay  +2 B) +3

€ +4 D) +6

The maximum oxidation state of chromium is
Ay +2 (B) +3

C +4 (D) +6
Cu*(z=29) 5§ AT e Y ger 2
A) O (B) 1
(C) 2 _ (D) 3

The number of unpaired electrons in Cy 2
A) O B) 1

€ 2 | ) 3

Yion (Z=129)is

24/A/X11-5005-{37;4o}
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29.

30.

31.

| | ' [118]
foarfm St g3 I whicd B § Yo Y P €, a2

(A]‘ frafm A  (B) f¥afmbp

© TtmE - (D) fefmk

A vitamin which plays a vital

role in the coagulating property of
blood is :

(A)  Vitamin A (B)  Vitamin D

(C) Vitamin E (D) Vitamin K

FRE-T R T

(A) fawdaz B) R
© e (D) e
Chloramine-T is a/an

(A)  Disinfectant (B) Antiseptic
(C)  Analgesic (D) Antipyretic

TGN U Tt @ formest swaivt o 3 s gomar o 2 2 -

(A) wfEm (B) TFIEE

(C) wiem D) SR

Hydrazine is a drug which is used in the treatment of which of the
following ?

(A) Malaria (B) Typhoid

(C) Cholera "~ (D) Tuberculosis

24 [A/XII-5005-(37/40)
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33.

34.

Illi-_
fFreferfas 4 9 o ez R 2

A) F=dAe (B) i

(C) wra (D) W a @
Which of the following is an alkaloid ?

(A)  Nicotine (B) Atropine
(C) Cﬁcaine (D)  All of these
Frafefen & w9 wrpfe @ 2 2

(A) I (B) AT
(C)  drefiefrefa (D) FheTEE
Which of the following is a natural rubber ?

(A) Isoprene (B)  Nitrocellulose
(C) Polyethylene (D) Bakelite

Th =1 9ered S A w9 F e @ g, 2
(A) TlRefa (B) YCTETH
(C) ufefs 3n (D)  aTEEshy

A raw material used in making nylon is

(A)  ethylene (B)  butadicne

(C) adipic acid (D)  isoprene

24/A/XI1 500537740, Page 14 / 32




36.

37.

F,C=CF, fr=fafaa & fraam im 2 »

(a) T (B) IeH

(C) =FEH-6 D) =-Tw

F,C=CF, is a monomer of which of the following ?

(A)  Teflon (B) Glyptal
(C) Nylon-6 (D) Buna-S
gaquEeht faemm ... * T A B

(A) TS , (B) e

(C) wfw® (D) HIeR |igw
Isotonic solutions have the same

(A) Density (B) Normality
(C} Strength (D) Molar concentration
HCI @& H,0 % g s o tear R

(A) 48% HCI1 (B) 36% HCI
(C) 22-2% HCI (D) 20-2% HCI

An azeotropic mixture of HCl and H, O has

(A) 48% HCI (B) 36% HCI

(C) 22-2% HCI (D) 20-2% HCI

(118 |

24 /A /XI1-5005-(37/40) Page 15 / 32



39.

40.

96500 Fev= 1 faga Fmaw CuSOﬁFﬁWﬂﬁm%

(A)  63-5 U afar B) 31-76 M Tl

(C) 96500 umy Hiar (D) 100 T dieT

A charge of 96500 coulomb liberates ............. " from the mIUtia;
of Cuso 4

(A) 635 gm copper (B) 31-76 gm copper

(C) 96500 gm copper (D) 100 gm copper

AITHE 8 T Y- B 2

l A

@ = B 7
R

[C) 1. A (D) —ff

The cell constant of a conductivity ‘cell is
@ L B - 4
A 1

C) 1.A _ (D)

%

¥ 2n | ZnSO, || CuSO, | Cus fogm arew wer 1.1 see ) F
e &

(A) Zn (B) Cu

(C) znso, D) cuso,

24/A/XI-5005-137 40, ] Page 16 / 32




41].

42.

43.

[ 118 ]
The electromotive force of the cell Zn | ZnSO, || CuSO, | Cuis

1-1 volt. Its cathode is

(A)  Zn (B) Cu

(C) ZnSO, (D) CuSO,
e &1 fagra feaa o »

A) ¥ (B) amifEw

(C) IRaTe (D) &

Who gave the theory of ionisation ?

(A)  Faraday (B)  Arrhenius
(C) Ostwald (D) Rutherford
foreft wered B arfafean & =t finft =t 2

(A)  TUHTI oA 9 (B) 8T SAHM T
(C)  3IV] THAE W (D)  Efsha 7mEr W

The rate of reaction of a substance depends upon
(A) Atomic mass (B) Equivalent mass

(C) Molecular mass (D)  Active mass

Srfofga o frgd affea Ufene 30T9E § U4 W W S R 2
(A) Ik Ag,O (B) 3 Ag,O

(©) T ZnO (D) 3% ZnO

24 /A [ X1I-5005-(37/40) Page 17 / 32



44.

45.

| - (1
Alkyl halides form ethers by reacting with which of the fOIIOwj,IE

(A)  Dryag,0 (B) Moist Ag;0
() Dryzno - (D) Moist ZnO
OH

i

CHa-—éH_* CH,—CHO % IUPAC 19 8

-

(A)  2- (B) 8-
©) 2T (D) sﬁ SRR
X OH
The IUPAC name 6f CHy— B CH,—CHO is
(A)  2-Hydroxybutanal . (B) 3-Hydroxybutanal -
(C) 2-H$¥dr0xyprop'anal' (D) None of these
EHR T i T 2
(8) wfE arm w1 |
(B) wUwH Hr
(C)  40% 39ret ¥ Wk et =5y
(D) URTHEiCsETSE W

Formalin is the commercial name of

(A)  Formic acid

(B) Fluoroform

(C) 40% aqueous solution of methana]

(D)  Paraformaldehyde

__J
24/A/X11-5005-a7/40, " Page 18/ 3




P UfeEES % SRR Y T B 2 [118]

(A) T THE (B) T FH
(C) T&H TN (D) s 3eA
An aldehyde on oxidation gives

(A) an alcohol ‘ B) a Kketone

(C) an ether (D) an acid

47, TG W R T TG B e A 2
C) TR ‘- D) Sl A

Chloretone is formed when chloroform reacts with

(A) Formaldehyde (B} Acetaldehyde

(C} Acetone (D) BEnzaldchyde
48, HH WIS Sl B A T 2

a) C,H, ,,0 (B) C,,Hg,[ O

(c) CH,O, D) C,H,, 0,

n 2n

The general molecular formula of saturated monocarboxylic

acids is

{A) CnHQn +20 (B} Cn“i&n 0

€ CH,0, D) CH,, 0,
It ri A

@4/1&;‘)(]1-5005-137;40; Page 19 / 32




30.

S1.

[1
WS It wd widfeese @ Aefited 3 RS g0 faig
HHhar g 2 |
A) HNfew g9 (B) efem =NA

(C) oW w1 st (D) Wifaw SEFEHE

e —

By which of the following formic acid and formaldehyde can |
distinguished ?

(A)  Benedict solution (B) Fehling solution

1C) Tollen's reagent (D) Sodium bicarbonate
Frafafes 3 # urg wmra: 1% orwn i o S 2

(A)  Cu | (B) Au

© Al (D) Fe

Which of the following metals is generally found in free state ?

(A} Cu | (B) Au
(C) Al (D) Fe
Frafafaa A s sy ag 2 2

(A =t e @i 8
B) @=ft gfiw g €
©) & B9 7= & B goar 2

(D) U FFF WS TE1 & bt @

24 /A /XI11-5005-37/40) Page 20 / 32,



54.

| [118]
Which of the following statements is true ?

(A)  All ores arc minerals
(B)  All mincrals are ores
(C) A mineral cannot be an ore

(D)  An ore cannot be a mineral

Frefafea urgs 4 fems frendu § dgqm urqest #1 3vdm @ar 2 2
(A) <@ (B) 3

) fae (D) Hifeam

Electrometallurgical process is used for the extraction of which of
the following metals ?

(A) Iron (B) Lead

(C)  Silver (D) Sodium

fsmaE 21 Fem- 3o U J9RE B 8, 98 ¥ueE &
(A) = BRI (B) e
(C) BEeER (D) 9T TIFAE

An ore having two different metal atoms is

(A) Haematite (B) Galena

(C) Magnetite (D)  Copper pyrite

152 25 2px’ 2py'2pz’ frferfaa 3 fau aa @1 waghs et 2

wfadraa (B)  WTEEIA
() v

(A)
(C) ATETH

|24/A/XII-5005-131.¢«» Page 21 / 32




[ 1.
Which of the following elements has electronic configuration

2
1s” 2s® 2px’ opy'ops! 2

(A) Oxygen (B) Hydrogen
(C)  Nitrogen (D) Fluorine

SS. ﬁfq%fi‘gaﬁaﬁq:r@mqﬂ HATegTge daaen 14 @ ?
A)  iRe w0 . (B) ISH AIFS

€) RTRRE ReEEe (D) SEReNH YeEaTse

-

Which of the following oxides of nitrogen is called laughing gas ?

(A}  Nitric oxide (B) Nitrous oxide

(C) Dinitrogen trioxide (D) Dinitrogen pentoxide

56. ﬁmﬁriﬁaﬁﬁﬁaﬁwmmﬁm%?

(A) O0-o0 By S-S

(C) Se-Se (D) Te-Te

Which of the following has highest bond energy ?

(A) O-0 B) S-8
(C) Se-Se (D) Te- Te
57. Ni(CO), ¥ Ni #t sifaefietor sraeeq 2
(A) O B) 1
C) 2 (D) 4
e
24 /A [/ XI11-5005-(37/40, Page 22 / 32




58.

59.

60.

o | [118 ]
The oxidation state of Ni in Ni (CO) 4 18

(Aa) O B) 1

€ 2 D) 4

et e 3 e o @ ferme dier farea Terehed T AT € 2
(A)  [Pt{NH,), JC14' (B) [Pt(NH,);Cl]Cl,

(C) [Pt(NH,),CL,]Cl, (D)  [Pt(NH,);Cly |C1

Which of the following has the highest molar electrical conductance
in aqueous solution ?

(A)  [PtNH;), ICl, (B) [PtNH,);Cl]Cl,

(C)  [Pt(NH,),CL,|Cl, (D)  [Pt{NH,),Cl,]Cl
K3[Fe(CNjﬁ] T [UPAC M 8

(A)  ORRRm HIEEES (B) WieRmEH H{HEES

(C) drefmEm FFEEEERE (1) (D) N2firEm eEEEAhE (1)
The IUPAC name of K,[Fe(CN)] is

(A) Potassium ferrocyanide
(B) Potassium ferricyanide
(C) Potassium hexacyanoferrate (11}

(D) Potassium hexacyanoferrate (I1I)

Rt B, T Ufe TeaT 2
(A)  whiETe (B) mREm
) & - (D) frha

24 /A/X11-5005-(37/40) Page 23 / 32




| 1 18 |
Vitamin B, , contains
(A)  Cobalt (B) Magnesium
(C) Iron (D)  Nickel
61. [Ni(C,0,),1* ® Ni < aw=wm w2
(A) 2 (B) 6
€ 4 D) 5
The coordination number of Ni in [Ni(C,0,),]* is
A) 3 (B) 6
€ 4 D) S
g
62. CH;—CH—CH,—CH,C] %l IUPAC 7 %
(A)  1-wR-2- AR s (B) 1-seNQaTEad=A
C) 1-9N-3-Afe s (D) 3 q ®E T&
g
The IUPAC name of CH;—CH— CH,—CH,Cl is
(A) 1-chloro-2-methyl butane
(B) 1-chloroisopentane
(C) 1-chloro-3-methyl butane
(D) None of these
63. C,H;Br +NaOH—-C,HOH +NaBr fm=fafga % fea wer &
it 2 2
(A) sowgifERfaes fawmm (B) fue=dl fawemm
(C) (A) 3R (B) T (D) ¥ A HE &
24 /A XII-5005-(37/40)
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64.

65.

(118]
C,H Br +N30H‘}C2HSOH +NaBr is an example of which of the

following types of reaction ?

(A}  Electrophilic substitution
(B) Nucleophilic substitution
(C) Both (A) and_ (B)

(D) None of these

frafafea o fra Wera domss &1 sareH sﬂlﬁw%mi‘m%?
(A)  (CH;),CHX (B) CH,CH,X
(C)  CH,CH,CH,X D) (CH,),CX

Which of the following alkyl halides is hydrolysed by Syl

mechanism ?

() (CH,),CHX (B) CH,CH,X
(C) CH,CH,CHX (D) (CH,),CX
st i o oot % GRI e & R

() e B) el

€ A D) A

Chloroform on reduction with Zn and water gives

(A)  Acctylenc (B) Ethylenc

| Mcthane
(C) Ethanc (D) .

24/A/Xll-5005-t37!40l Page 25 / 32




67.

68.

(A)  SETRE $r (B) U

© ws D) A

When ethyl bromide is treated with dry silver oxide, then we get
(A} Diethyl ether (B) Ethanal

(C)  Ethane (D;) Ethene

S it 3 |

(&) I CaCl, W HiE HCI (B) 3 znCl, T &g HCI

(C) ¥R AICI, W ®ig HCI (D) M PAC1, T Hig HCI
Lucas reagent is

(A)  Anhydrous CaCl, and conc. HCl
(B) Anhydrous ZnCl, and conc. HCI |
(C)  Anhydrous AlCl, and conc. HCI

(D)  Anhydrous PdCl, and conc. HCI

A-2-HTA ¥ T
(A)  EEl T | (B) ¥¥vsh ueret
(C) Dl vewtera D)  swEERies el

134;;&(:(11-5005--[37;40;]_ Page 26 / 32




‘ [118]
Butan-2-ol is g

(A)  Primary alcohg] (B} Secondary alcohol
(C)  Tertiary alcohol (D) Dihydric alcohol

69. Tefied 3 & 9 <Rl wewrerr 2 -

G
A)  CH,CH,OH () CH;~G—OH
CH,CHj
(C (I:HQOH CH -(E?i: CH
) CH,OH (D) G=¢—CHy
CH,CH;

Which of the following is a tertiary alcdhol ?

GHs
(A) © CH,CH,OH (8) CH—G—OH
CH,CH;
CH,OH ¢Hs
2 Y. N
(C) CH,0H (D)- CHa (? CH,OH
CH,CH,
70. CHy—CH—CH,OH %I IUPAC 7 &
@) 2-ifRe- g (B) IEIRA wewrEre
(€ 21t D) wH A9

it
The IUPAC name of CH;—CH—CH,0H is
(A) 2-methyl-1 -propanal (B} Isobutyl alcohol

(C) 2-methyl-1-butanal (D) None of these
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wvg - 3 / SECTION - B
®q TAfT 9YA / Short Answer Type Questions

m#m:#zoagmﬁqf:ﬁrﬁlonﬁ*mf’m&h

2 5% FPraifa ¥ : 10"2:*
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 question,
Each question carries 2 marks : 10x2=3ﬂ
1. M s i erafes st F qer s @0 E 2 .

What are the main differences between physical adsorption and

chemical adsorption ?

2. wAAfaFme?

- 2

What is Brownian movement ?

3. wR# I wH F gEy § Ree-teafis g F1 339 S 2
Discuss electrochemical principle regarding rusting of iron.

4. HIR FIeHE W AA F b1 INE T591 R 0 2
What is the effect of dilution on molar conductance

5. WA wIR? 2
What is mole fraction ?

6. AW gW & INE® 3T & T8 | UIee & Praw Rord 2

Write Raoult's law of relauve lowering of vapour pressure.

_-—-'--’-
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8.

10.

11.

12.

13.

14.

15.

HiCH! AW 68 Fad & 2 Sere F wr =wEn wi

What are network solids ? Give an example.

2
What is Schottky defect ? Explain with example.
HHAY qea Aot Ay <t Frmtor =i e & 2 2
Why do transition elements form complex compounds ?
Tt AT ST (EAN) <t St i - 2
Explain effective atomic number. |
AR ¥ Y e % W W g7 o | 1+ 1

Write the names and formulae of two ores of iron.
SIEIERE) m@%ﬁﬁ&mﬁmmwmﬁnﬁmarm% ? 2
Why is cryolite ore used during the extraction of Al metal ?

F2,012,Br2@12ﬁﬁa@'ﬂégm%a@mﬁwﬁ| | 2

Arrange F,, Cl,, Br, and I, in the increasing order of electron

affinities.
Kr{z=36méxe[z=54]msﬁagiﬁ$ﬁ=qm%é| 1+ 1

Write the electronic configurations of Kr (Z=36)and Xe (Z = 54).

DNA fsmfiifén € saaifimr &1 que il 5

Discuss the utility of DNA fingerprinting.
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17.

18.

19.

20.

ﬁ":ﬁﬁv{f@ﬁ_aﬁ Th-Ush ITE ¢ B | )
() G wger (i) ~EIH TR
Give one example of each of the following :

(1) Synthetic polymer (ii) Condensation polymer

USE JaHT 77 2 7 2
Which is Rosenmund reduction ?

arefiieiss 99 fory wor v 2 2 2

How is polypeptide bond formed ?

Hifsct Ui i @+ 2 2 2
What is carbyl amine reaction ?

frafafaa dife! ¥ 1UPAC Wﬁ@ | | 2

CHg OH
(i) CHy=¢—CHOH (i) CHy— (l,‘H—CHQ—-CHg*OH
CH,

Write the IUPAC names of the following compounds :

CH; | OH |
() CH3"'(F“‘ CH,OH [+ a3~ CH—-CH,—CH,-OH
CHg
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3 x5=18§

estion N '
Qu 0s. 21 to 26 qre Long Answer Type Questlions. Answer any

3 questions. Each question carries 5 marks :

21.

22.

23.

24.

3x5=15
AEET % I & o T vy § > e 3 - A o o

AR ? TS ) 2+3

What do you understand by rate of a.reaction ? What factors affect

the rate of a reaction ? Discuss.

T T R 2 e T e R e w2 243
What is sogp? How does it act in the cleansing of clothes ?

T fafyr & s fmtor 1 frgra ford | 7 =t gewe widt @ foh9 9w
wffsren #ta 2 2 3+2

Write the principle of manufacture of ammonia by Haber's process.

How does it react with CuSO , solution ?

rendl, S¥veh wd ohial TewEe d s R fae w0 2

wn

How would you distinguish among primary, sccondary and tertiary

alcohols ?
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25. Tr=fefigs *t sqew wfea wwemsy

5
(i) Uceia @oq - i) HFemy st
Explain the following with examples :
(if Aldol condensation (iij Cannizzaro’s reaction.
26. fy=fafgs & 1uPAC m fog . 5X
OH
i) CH —(le— COOH i H,—COOH
C!
(ii) Cl—=CH—COOH (iv) CH;—CH=CH—COOH
§
(v} CHy—C—CH,—COOH
Write [IUPAC names of the following :
?H
i) CHy—CH— COOH G o2 cooH
CH,— COOH
(I:l
(i) Cl—-CH—-COOH (iv) CHy—CH=CH—COOH
0

il
(vj CH;—C—CH,—COOH
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